
E N S E

GLIMAKRA OF SWEDEN AB | Box 125 | SE-289 04 Glimåkra | Försäljning +46 44 454 10 

Sales +46 44 454 20 | info@glimakra.com | www.glimakra.com | Org.no 556120-7837 

VAT.no SE556120783701

ASSEMBLY INSTRUCTIONS /  MONTERINGSANVISNING  

	   2 0  0 8  2 0 2 5

S a i l



Screwdriver/Skruvdragare Phillips screwdriver 

/Stjärnskruvmejsel

Allen key/Insexnyckel

TOOLS YOU NEED / VERKTYG DU BEHÖVER:

S E

S E

E N

E N

FRAME

PENCIL TRAY

SCREWS/ 

SKRUVAR
RAM

PENNLIST

3 pcs

2 pcs

3 pcs

3st

3st

M6 screw head

Cross dowel 
M6x10x14 mm 

Wood dowel
7.9 x 20 mm 

Skruvhuvud M6

Fully threaded stud  
bolt M6x100 mm

F6S M6x40  
Hex screw FZB

F6S M6X40 
Insexskruv FZB

Sargsprint  
M6x10x14 mm

Centrumtapp  
7,9 x 20 mm

Pinnskruv helgängad 
M6x100 mm

3 pcs

2 pcs 2st

2st

3st



S E

S E

S E

E N

E N

E N

IMPORTANT

MAST

BASE

SCREWS/ 

SKRUVAR

VIKTIGT

MAST

FOT

4 pcs

8 pcs

4st

8st

4st

M6 screw head

System screw 
6.0x25 mm

Skruvhuvud M6

Systemskruv 
6,0x25 mm

K6S M6x45  
hex screw  
14.5 mm head

K6S M6x45  
skalle 14,5 mm

4 pcs

Fabric and cork panels are reversible. 
Writing boards have a fixed position.  
A mast always has a 600 mm and a  
750 mm frame.

Tyg- och korkpaneler är vändbara. 
Skrivtavlor har bestämd placering. 
En mast har alltid en 600mm- och  
en 750 mm ram.



B ASSEMBLING THE MAST / MONTERING AV MASTEN

E N

E N

S E

S E

A

Montera Mastfoten med 8st Systemskruv 
6,0x25 mm. Se till att du har rätt bits för 
aktuell stjärnskruv och håll ett jämnt hårt 
tryck för att undvika att bitset slinter och 
skadar skruvskallen.

Skruva ihop Mastdelarna med 4st 
genomgående skruv K6S M6x45 och 
tillhörande Skruvhuvud M6. 

Mount the base using eight 6.0x25 mm 
system screws. Make sure to use the 
correct bit for the star-drive head and 
apply firm, even pressure to prevent 
slipping and damaging the screw head.

Assemble the mast sections using four 
hex screws K6S M6x45 along with 
matching M6 screw heads.

ASSEMBLING THE BASE / MONTERING AV FOTEN



C ASSEMBLING THE FRAME / MONTERING AV RAMEN

E N

S E Ramarna fästs i masten med 3st 
Pinnskruv helgängad M6x100mm 
från båda sidor. Dessa ska sticka ut 
lika mycket. Infästning görs med 
Skruvhuvud M6 från insidan av ramen.

Vänd ramen så att magneterna sitter i 
nedankant i nyckelhålsbeslaget enligt 
tredje bilden.

Den breda panelen ska sitta till höger 
då masten är förskjuten enligt nedersta 
bilden.

Attach the frames to the mast using 
three fully threaded M6x100mm stud 
bolts from both sides. The bolts should 
protrude equally on each side. Fasten 
them from the inside of the frame using 
M6 screw heads. 
 
Rotate the frame so that the magnets 
are positioned at the bottom edge of the 
keyhole bracket.

The wide panel should be positioned 
on the right side, as the mast is offset 
according to the bottom picture.



D PLACING OF THE PANEL / PLACERING AV PANEL

E N

S E Panelerna hängs på ramarna med 
förmonterade brickor som fäster i ramens 
magneter. Se till att samtliga magneter 
har greppat i ramen. Panelen kan behöva 
tryckas ner något. 
 
Ramar i storlek M och L är förberedda för 
infästning av skrivtavla. 

The panels are hung on the frames using 
pre-mounted washers that attach to the 
frame’s magnets. Make sure all magnets 
have latched securely onto the frame. 
The panel may need to be pressed down 
slightly. 
 
Frames in sizes M and L are prepared for 
mounting a writing board.



E PLACING OF THE PENCIL TRAY / PLACERING AV PENNLIST

E N

S E Pennlist skruvas fast i whiteboarden 
från baksidan med 2st Insexskruv F6S 
M6X35. 3st Centrumtapp 7,9 x 20mm 
styr listen rätt. 

Avlägsna skyddfolie efter slutlig 
montering.

The pencil tray is fastened to the back 
of the whiteboard using 2 pcs hex 
screws F6S M6x35. 3 pcs dowels  
7.9 x 20 mm guide the tray into the 
correct position. 

Remove the protective film after final 
assembly.


